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	Ques
	Answer
	Level
	Skill
	Subskill
	Item #

	1
	C  
	Hard  
	PS 2: Motion, Forces in Nature  
	SPI 0507.11.1 Mass / Force / Distance [99069]
	D109931

	2
	A  
	Hard  
	PS 1: Matter and Energy  
	SPI 0507.10.2 Heat Transfer [99068]
	D85353

	3
	C  
	Hard  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0507.2.1 Nutritional Relationships [99049]
	D103776

	4
	C  
	Hard  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0507.5.1 Adaptations [99056]
	D56810

	5
	A  
	Hard  
	PS 1: Matter and Energy  
	SPI 0507.10.1 Potential vs Kinetic [99067]
	D66296

	6
	B  
	Hard  
	PS 2: Motion, Forces in Nature  
	SPI 0507.11.1 Mass / Force / Distance [99069]
	D104785

	7
	B  
	Hard  
	PS 2: Motion, Forces in Nature  
	SPI 0507.11.1 Mass / Force / Distance [99069]
	D109900

	8
	C  
	Hard  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0507.2.2 Symbiosis [99050]
	D104334

	9
	C  
	Hard  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0507.2.1 Nutritional Relationships [99049]
	D83971

	10
	A  
	Hard  
	PS 1: Matter and Energy  
	SPI 0507.10.2 Heat Transfer [99068]
	D109048

	11
	D  
	Hard  
	LS 1: Cells, Flow of Matter & Energy, Heredity  
	SPI 0507.T/E.2: Technology Development [99046]
	D103805

	12
	B  
	Hard  
	PS 1: Matter and Energy  
	SPI 0507.10.2 Heat Transfer [99068]
	D85351

	13
	B  
	Hard  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0507.2.3 Impact of Humans or Natural Events [99051]
	D58994

	14
	C  
	Hard  
	PS 2: Motion, Forces in Nature  
	SPI 0507.12.2 Gravity [99071]
	D65487

	15
	A  
	Hard  
	PS 2: Motion, Forces in Nature  
	SPI 0507.12.1 Earth's Attraction [99070]
	D109955

	16
	C  
	Hard  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0507.5.2 Fossils [99057]
	D64148

	17
	D  
	Hard  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0507.2.3 Impact of Humans or Natural Events [99051]
	D65337

	18
	C  
	Hard  
	LS 1: Cells, Flow of Matter & Energy, Heredity  
	SPI 0507.Inq.1 Investigate [99044]
	D103448

	19
	C  
	Hard  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0507.5.1 Adaptations [99056]
	D54591

	20
	B  
	Hard  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0507.2.1 Nutritional Relationships [99049]
	D105444

	21
	A  
	Hard  
	LS 1: Cells, Flow of Matter & Energy, Heredity  
	SPI 0507.T/E.1 Select Technology [99045]
	D109879

	22
	A  
	Hard  
	PS 2: Motion, Forces in Nature  
	SPI 0507.11.1 Mass / Force / Distance [99069]
	D104790

	23
	B  
	Hard  
	PS 1: Matter and Energy  
	SPI 0507.9.2 Change of State [99065]
	D60592

	24
	D  
	Hard  
	PS 1: Matter and Energy  
	SPI 0507.10.2 Heat Transfer [99068]
	D103346

	25
	C  
	Hard  
	PS 1: Matter and Energy  
	SPI 0507.10.1 Potential vs Kinetic [99067]
	D103452

	26
	B  
	Hard  
	LS 1: Cells, Flow of Matter & Energy, Heredity  
	SPI 0507.4.1 Inherited Traits [99054]
	D103357

	27
	C  
	Hard  
	PS 1: Matter and Energy  
	SPI 0507.9.1 Physical vs. Chemical Properties [99064]
	D109959

	28
	D  
	Hard  
	LS 1: Cells, Flow of Matter & Energy, Heredity  
	SPI 0507.Inq.1 Investigate [99044]
	D103784

	29
	B  
	Hard  
	PS 2: Motion, Forces in Nature  
	SPI 0507.12.2 Gravity [99071]
	D62283

	30
	A  
	Hard  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0507.2.3 Impact of Humans or Natural Events [99051]
	D57816

	31
	B  
	Hard  
	LS 2: Interdependence, Biodiversity & Change  
	SPI 0507.2.3 Impact of Humans or Natural Events [99051]
	D105233

	32
	C  
	Hard  
	LS 1: Cells, Flow of Matter & Energy, Heredity  
	SPI 0507.T/E.2: Technology Development [99046]
	D103797
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	Question 1 of 32

	In order for an observer to locate an object, the object must be __________.

	 
	 
	 
	 
	 

	[image: image1.wmf]  
	A.
	moving faster than the observer

	[image: image2.wmf]  
	B.
	moving slower than the observer

	[image: image3.wmf]  
	C.
	described in relationship to fixed objects

	[image: image4.wmf]  
	D.
	described in terms of its chemical composition
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	When friction occurs from kinetic energy, what is produced? 
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	A.
	heat

	[image: image6.wmf]  
	B.
	velocity

	[image: image7.wmf]  
	C.
	electrical energy

	[image: image8.wmf]  
	D.
	chemical energy
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	According to the energy pyramid above, how do secondary consumers obtain energy?
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	A.
	they feed upon carnivores

	[image: image11.wmf]  
	B.
	they feed upon producers

	[image: image12.wmf]  
	C.
	they feed upon herbivores

	[image: image13.wmf]  
	D.
	they feed upon other secondary consumers
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	Which of these is an example of one animal adapting to its environment by using mimicry of a similar looking animal?

	 
	 
	 
	 
	 

	[image: image14.wmf]  
	A.
	a leaf butterfly and a leaf

	[image: image15.wmf]  
	B.
	a dark-colored pepper moth and a sooty tree

	[image: image16.wmf]  
	C.
	a yellow jacket and a syrphid fly
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	D.
	a snowshoe hare and its white fur in winter
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	What kind of energy does a coiled spring possess?
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	A.
	potential

	[image: image19.wmf]  
	B.
	base

	[image: image20.wmf]  
	C.
	force

	[image: image21.wmf]  
	D.
	kinetic
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	Which of the following is considered a vector?
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	A.
	work
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	B.
	acceleration
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	C.
	energy
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	D.
	speed
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	A passenger train traveled 486 miles in 6 hours. 

What was the average speed of the train?
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	A.
	about 61 miles per hour

	[image: image27.wmf]  
	B.
	about 81 miles per hour
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	C.
	about 101 miles per hour

	[image: image29.wmf]  
	D.
	about 121 miles per hour
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	Which of the following is a relationship where one of the members is harmed while the other member benefits?
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	A.
	symbiotic

	[image: image31.wmf]  
	B.
	commensal

	[image: image32.wmf]  
	C.
	parasitic
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	D.
	symbiotic and parasitic
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	Which order shows how energy flows through a food chain?
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	A.
	producers, omnivores, herbivores
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	B.
	herbivores, producers, carnivores
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	C.
	producers, herbivores, omnivores
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	D.
	carnivores, producers, herbivores
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	What type of energy is present in an unlit match?

	 
	 
	 
	 
	 

	[image: image38.wmf]  
	A.
	chemical potential

	[image: image39.wmf]  
	B.
	mechanical kinetic

	[image: image40.wmf]  
	C.
	electrical potential

	[image: image41.wmf]  
	D.
	gravitational kinetic
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	What influences have past scientists had on new ideas for the future?

	 
	 
	 
	 
	 

	[image: image42.wmf]  
	A.
	Most ideas have already been discovered and theories already tested, which leaves very little for future scientists to explore. 

	[image: image43.wmf]  
	B.
	Present day scientists have been influenced to question the theories of past scientists and prove them wrong.

	[image: image44.wmf]  
	C.
	Science has been explained and future scientists will be charged with passing the information to future generations. 

	[image: image45.wmf]  
	D.
	Based on the scientific research of past scientists, new ideas, theories, and experiments are formulated.
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	All of the following are possible energy transformations except __________.

	 
	 
	 
	 
	 

	[image: image46.wmf]  
	A.
	wind to electrical energy

	[image: image47.wmf]  
	B.
	still water to electrical energy

	[image: image48.wmf]  
	C.
	steam to electrical energy

	[image: image49.wmf]  
	D.
	sunlight to electrical energy
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	Which of the following is most often caused by human action on the environment?

	 
	 
	 
	 
	 

	[image: image50.wmf]  
	A.
	earthquakes on the New Madrid fault

	[image: image51.wmf]  
	B.
	drinking water that has been contaminated

	[image: image52.wmf]  
	C.
	volcanoes erupting near a village
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	D.
	thunderstorms producing tornadoes
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	On paper, describe an experiment you could perform inside the classroom that would demonstrate that your answer choice was correct. 

How does the slope of the road going up a hill affect the amount of force required to get to the top of the hill?

	 
	 
	 
	 
	 

	[image: image54.wmf]  
	A.
	The more slope the hill has, the less force required to go up the hill.

	[image: image55.wmf]  
	B.
	The force required to go up a hill does not change regardless of the slope of the hill. That is the reason you get equally tired when walking down a hill as up a hill.

	[image: image56.wmf]  
	C.
	The more slope the hill has, the greater the force required to get up the hill. That is the reason you feel your muscles straining as you walk up a hill.

	[image: image57.wmf]  
	D.
	The slope of a hill does not affect the amount of force required. The only thing that affects the amount of force needed is the mass of the object being moved.
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	Why do massive objects have gravity?

	 
	 
	 
	 
	 

	[image: image58.wmf]  
	A.
	Massive objects curve space.

	[image: image59.wmf]  
	B.
	Massive objects flatten space.
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	C.
	Massive objects produce space.

	[image: image61.wmf]  
	D.
	Massive objects destroy space.
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	How is it possible for a fossil of an ocean creature to be discovered in a layer of mountain rock?

	 
	 
	 
	 
	 

	[image: image62.wmf]  
	A.
	Water on early Earth was once as high as most of today's mountains.
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	B.
	A seagull carried the fossil away and eventually left it high on a mountain top.

	[image: image64.wmf]  
	C.
	The fossil was located on a part of earth's surface that was compressed upward and formed a mountain.

	[image: image65.wmf]  
	D.
	Lava from a volcano flowed over and uncovered the fossil.
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	One particular road near your school is known to have deer cross over it at all times of the day. If you were an environmentalist wanting to discover the cause of this dangerous behavior, where might you begin your investigation?

	 
	 
	 
	 
	 

	[image: image66.wmf]  
	A.
	Record traffic patterns throughout the day.

	[image: image67.wmf]  
	B.
	Count the number of deer that cross the road throughout the day.

	[image: image68.wmf]  
	C.
	Measure the speed of cars as they travel the road.

	[image: image69.wmf]  
	D.
	Search for new housing developments nearby.
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	What is a scientific hypothesis based on?

	 
	 
	 
	 
	 

	[image: image70.wmf]  
	A.
	A hypothesis is based on the research and data of the scientific experiment.

	[image: image71.wmf]  
	B.
	A hypothesis is based on the results and is a written explanation of the outcome.

	[image: image72.wmf]  
	C.
	A hypothesis is based on the cause and effect relationship of the scientific question and the proposed outcome.

	[image: image73.wmf]  
	D.
	A hypothesis is based on the unlikely outcome of a scientific experiment that you hope to prove incorrect.
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	A cactus has a very thick stem, a shallow root system, and needles that cover the entire stem. Why are these modifications important for the cactus to survive in the desert?

	 
	 
	 
	 
	 

	[image: image74.wmf]  
	A.
	The stem looks thick because there are no true leaves to hide the size of the stem. The roots are shallow because of the dry desert climate.

	[image: image75.wmf]  
	B.
	The stem is thick because it can be a home for some animals. The needles help protect the animals from predators.

	[image: image76.wmf]  
	C.
	The thick stem holds water and is protected by the needles. The roots are shallow because they need to absorb water quickly when it rains.

	[image: image77.wmf]  
	D.
	The stem is thick because of the plant's ability to absorb the large amounts of rain that fall in the desert. The roots are shallow because the desert floor is often flooded during the frequent rains.
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	Millipedes and worms are types of decomposers called ________________.

	 
	 
	 
	 
	 

	[image: image78.wmf]  
	A.
	autotrophs

	[image: image79.wmf]  
	B.
	detritivores

	[image: image80.wmf]  
	C.
	crustaceans

	[image: image81.wmf]  
	D.
	herbivores
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	Who discovered how to calculate the amount of energy contained in a photon?

	 
	 
	 
	 
	 

	[image: image82.wmf]  
	A.
	Max Planck

	[image: image83.wmf]  
	B.
	Isaac Newton

	[image: image84.wmf]  
	C.
	Jacques Cousteau

	[image: image85.wmf]  
	D.
	Thomas Edison
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	Which equation can be used to determine the acceleration of an object if a is acceleration, f is net force, g is gravity, m is mass, and v is velocity?

	 
	 
	 
	 
	 

	[image: image86.wmf]  
	A.
	a = f/m

	[image: image87.wmf]  
	B.
	a = m/f

	[image: image88.wmf]  
	C.
	a = v/m

	[image: image89.wmf]  
	D.
	a = g/f
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	Which of these is not a physical change?

	 
	 
	 
	 
	 

	[image: image90.wmf]  
	A.
	baking soda mixing with water

	[image: image91.wmf]  
	B.
	vinegar and baking soda creating carbon dioxide

	[image: image92.wmf]  
	C.
	steam condensing to become a liquid

	[image: image93.wmf]  
	D.
	sugar water boiling until it thickens
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	Why is the end of a screw that has been drilled into a piece of wood hot when you touch it?

	 
	 
	 
	 
	 

	[image: image94.wmf]  
	A.
	The screw is made of metal, which is a conductor, so the screw heats up.

	[image: image95.wmf]  
	B.
	The electricity used to make the drill move was transferred to the screw and caused it to get hot.

	[image: image96.wmf]  
	C.
	The wood was cold and the metal of the screw was hot and opposites attract.

	[image: image97.wmf]  
	D.
	The motion of the screw by the drill against the wood caused the screw to become hot.
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	What is the correct definition of kinetic energy?

	 
	 
	 
	 
	 

	[image: image98.wmf]  
	A.
	Kinetic energy is the energy received from an outside source and stored inside a body or object for use in the future.

	[image: image99.wmf]  
	B.
	kinetic energy is the energy stored by an hydroelectric dam when the turbines are off and water is not flowing.

	[image: image100.wmf]  
	C.
	Kinetic energy is the energy of a body or object that is moving either from stored energy or from energy forced upon it. 

	[image: image101.wmf]  
	D.
	Kinetic energy is the energy trapped from the sun and is used as a renewable energy source to power objects cleanly.
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	Which of the following words correctly complete this sentence? 

An offspring's DNA contains all the genetic instructions for the organism, which is created from 23 _____________________ received from both parents during reproduction. 
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	A.
	nucleus

	[image: image103.wmf]  
	B.
	chromosomes

	[image: image104.wmf]  
	C.
	mitochondria

	[image: image105.wmf]  
	D.
	ribosomes
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	Which property of matter can be used to easily separate aluminum cans from steel cans at a recycling center?

	 
	 
	 
	 
	 

	[image: image106.wmf]  
	A.
	chemical 

	[image: image107.wmf]  
	B.
	thermal

	[image: image108.wmf]  
	C.
	magnetic 

	[image: image109.wmf]  
	D.
	electric
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	Which of the following could be tested and proven true through empirical observations?

	 
	 
	 
	 
	 

	[image: image110.wmf]  
	A.
	the formation of Earth

	[image: image111.wmf]  
	B.
	the future climate of Earth

	[image: image112.wmf]  
	C.
	the existence of life after death

	[image: image113.wmf]  
	D.
	the genetic make up of a pig 
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	If two similar objects with different mass travel at the same speed and for the same distance, which statement below is true?

	 
	 
	 
	 
	 

	[image: image114.wmf]  
	A.
	The force required to move both objects would also be the same.

	[image: image115.wmf]  
	B.
	More force would be required to move the object with more mass.

	[image: image116.wmf]  
	C.
	The object with less mass would require more force to be moved.

	[image: image117.wmf]  
	D.
	Neither object would require the use of force to be moved.
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	A wooded area where deer live is cleared and replaced with new homes. What will happen to the deer that live in the wooded area?

	 
	 
	 
	 
	 

	[image: image118.wmf]  
	A.
	They will be forced to find a new place to live.

	[image: image119.wmf]  
	B.
	Nothing will happen to the deer. They can still live in the area.

	[image: image120.wmf]  
	C.
	They will all be killed by the machines used to clear the land.

	[image: image121.wmf]  
	D.
	The people who live in the new homes will watch the deer.
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	Which of the following conserves the most water?

	 
	 
	 
	 
	 

	[image: image122.wmf]  
	A.
	washing small loads of dishes in the dish washer

	[image: image123.wmf]  
	B.
	turning the water off while brushing your teeth

	[image: image124.wmf]  
	C.
	running your hose without a shut-off nozzle

	[image: image125.wmf]  
	D.
	setting your washing machine on a full load for a small amount of clothing
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	What was Albert Einstein's greatest contribution to science? 

	 
	 
	 
	 
	 

	[image: image126.wmf]  
	A.
	the three laws of motion

	[image: image127.wmf]  
	B.
	laws of planetary motion

	[image: image128.wmf]  
	C.
	the theory of relativity

	[image: image129.wmf]  
	D.
	law of cooling
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